=9 Zol7} Z+ZF 36cm 9} 68cm ¢ AAMZAF o] QlEUTL T
gArzYe o] g W o] Zol o] Ap= Autydu7t?

® 4cm @ 5cm ® 6cm @ Tcm @8(:111

~&B

AR 99 Aol
(3t mA 2ol dolx 4) o|B=,
36 +4 =9(cm), 68 +4 = 17(cm) YUt
webA] £ AR O] g W o] Ao]o] A=
17 -9 = 8(cm) YUt




7RV 14m, A27F 9m Ql AR O] FeE Fohe A2
ARI7L?
® 1449 @ 14x9 @(14+9)><2

@ 144 9% 2) ® (14x 9) +2

B

A o] =)

= (7t29] do] + =29 Zo] ) x 2
(7F27F 14m, 27 9om Ql JArE o] E4)
= (144+9)x2

—~




o2 29 AA £ 2] dolE 40em ;
o} @9 dol= % cn YU L2

D 1lcm @ 2cm ® 3cm \

@®)4 cm ® 5cm

A BA © AS ALY 72 Al 22 AZste] 719,
AsY.

“~-10cm-- "~
ujebq 139 Eale) Zolg 7ok,
(AAZGITA + B x2) 9 Aol T

i

% g,

T~-10ecm-- "~

™

I HdeEel + @ x 2) = 40(cm)
= (40 - AAA R =) + 2




4. @@ FeIA ol Zel Aokt 8 WA

@ : =947F 48 cmolal 7F= 7} 14em 91 A AR 2] o]
@ : E37F 52em Q1 HAHS
@ @, 4cm? @ @, 4cm? ® @, 16cm?
@ @, 18cm? ®)D , 29 cm?

B

@ AR -

(MZ2] do])=48 + 2 - 14 = 10( cm)
(¥le])= 14 x 10 = 140( cm?)

@ AR -

(g He] dol)=52 +4 = 13(cm)
(Ho])= 13 x 13 = 169( cm?)

webA @ AR 9 Wol7t

169 — 140 = 29( cm?) THE o Y54yt




